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Primary Division: Problems III

P3.1. Dancers in a class are spaced evenly around a circle and are then counted off consecutively from
number 1.  Dancer 20 is directly opposite dancer 53.  How many dancers are there in the group?

P3.2. In a singles tennis tournament there are 10 players.  The organiser needs to arrange the 10 players
into 5 pairs for the first round.  In how many ways can this first round be drawn up?

P3.3. In the diagram (which is not drawn to scale) the lengths of the
sides of the triangle are 8, 9 and 13 centimetres.  The centres of
the circles are at the vertices of the triangle, and the circles just
touch.  Find the radius of the largest circle.
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